3 (Sem~4/CBCS) ECO HC 3

2024

ECONOMICS

( Honours Core )

Paper : ECO-HC-4036
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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O 2npRY B foa

(a) Mention one importance of normal
distribution.
PTEI ToR B SRSl SCEY 47 |

{b) When is F-test used?
P-+3591 (3fSu 924 391 = 2

(c) Give one property of t-test.

t-RIPR b1 (Y fore |
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(2)

(d) Mention one cause of heteroscedasticity.
e @bl oy 19 Sy 41 |

fe) When does specification error arise?
o R @l fem See =2 '

(/) What is linear equation?
aRF Qe 2

{g) Write the full form of BLUE.
BLUER 59 9% fera |

(h) Define coefficient of determination.
S HOS e o o

(i If the error term is not distributed
normally with 2 variance, what type of
problem may arise?
3t Ff ot e Roaem weme o 2femer
T, (SR (IR AP Tee 2772

() What is critical region?
MF5o (g f$ 2

2. Answer the following questions : 2x5=10

TE 2PTRd Teq far

(@) Mention two properties of estimators.
SR 451 GBSy 754 |
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(3)

(b) What does an error term represent?
@b o GO & 2

(c) Mention two sources of autocorrelation.
IO 01 BT S 991 |

(d) When does heteroscedasticity arise?

fRufivem (e Teq =1 2

(e) Distinguish between one-tailed test and
two-tailed test.

G- [RRMFR e R-PREFE AwR Ve
1% fert |

3. Answer any four of the following questions :
5x4=20

o 2P R e B T i

(@) What is normal distribution? Mention
the properties of normal distribution. 1+4=5

YR 35 6 2 MR T BRI fora o

(b) What is hypothesis testing? What are
the various steps of hypothesis testing?
1+4=5
e el 2 07w Awr (Ry @R
ferr |
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(c) Explain type-I and type-II error. 5
o499 e @b wF fall e #fha
faa |

- (d) Explain the concept of regression.
Discuss the importance of regression in

economics. 2+3=5
ST YIRAICOT AR BT | oS FAgR
PG NE A 47 |

(e) Distinguish between multicollinearity
and autocorrelation.
I HF FORTER TEws {19y
HICETGAT #470 |

() Explain the method of measuring the

goodness of fit in a multiple regression
model.

R T WY Vey @eper fidfy R
ARNSCHT ML 47 |

4. Answer the following questions : 10x4=40
OO LTRSS fir
(a) Estimate the regression lines from the
following data : 10

FfeiRe ©%m 1 X9 9me va s
g 9 :

X : 78 8 97 69 S m s 61
Y : 125 137 156 112 107 136 123 108
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(b)

(c)
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Or / 911

Explain the consequences of auto-
correlation on OLS estimation. How can
autocorrelation be corrected? : 4+6=10

OLS TRee FATTRd FeFecdd Al
F41 | 3 SO (R Sredr AR 2

What is test of significance? Mention the
various steps associated with tests of
significance. 3+7=10

HefFer 4w 327 AT o[ Ave WS
ACTHPTR S 11
Or / 51

Explain the consequences of multi-
collinearity. 10

TR LSRR ST 31 |

State and prove Gauss-Markov theorem
for B, in linear regression model
Y; =Bo +BX; +u,, where B, and B, are
parameters and u, is stochastic term. 10

TR-IRFS OGO TS A 247G 37 | TS B,
I B, A5 T HE u, Fo oM 2 |
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(6)

Or / 5311

Distinguish between null hypothesis and
alternative hypothesis. When is chi-
square distribution used? A random
sample of 5 students from a class was
taken. The marks scored by them are 80,
40, 50, 90 and 80. Does these sample
observations confirm that the class
average is 70? [Tabulated value of
t=2-78 corresponding to (n-1) d.f.].
2+3+5=10

& S W fem SeEeR T A o |
chi-35f Reae @fean IzR va1 =7 9B ¥
5 ¥ W I wafeew @@ 2 |
(OSEE w59 3 80, 40, 50, 90 WF 80
W, R RYAE &M MR % 70 I
S WHA? [t=2-787 OfRwe T
(n—1) d.f I A S~ |

(d) Explain the uses of dummy variable for
measuring the change in parameters
over time. What is the use of dummy
variable in seasonal analysis? Explain.

5+5=10
AR TE ARTER (1Y 7' RaRfEE sore
(PCTHCI TJIT 9 =, I 7971 Al
Remm crae afewe e R aee =
[? R/ FA
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Or / ©%<1

Explain how specification error may
arise if irrelevant variable is included in a
linear regression model. Explain the
consequences of specification error. 4+6=10
SePRPe e ad Rew Resd @ @eme
Ted W I I 4R G4 AORPIR I
EZIR
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